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8% + 4x° — &% + 3(2x% — 4x)

2(4x% + 5x0) + 6% — 2% + 4x?

0 + 6x7 — 2% — 3x° — 4x?

T+ 5 + o + 4 — 9y

2(x— 5x2) + 7% = 5% — 5x°

Al

x—3x—2x" + 6x7 + dx

Tx® — 5x% + 5x— 3(2x + 2x)

T — 5¢% + 3(6x3 — Tx) — 3x°

6x° — 5x% — 4(5)(?2 — 5x2) — 8

4% — x— 3(6x+ 8x3) —5x°
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ol

82 + 4x> — 8x2 + 3(2x% — 4x)
453 + 6% — 12x

2(4x% + 5x%) + 6x2 — 20 + 4x?
26x°

O + 6x° — 2% — 3x° — 42

6

T + 56 + do + 4x — 9x3
7 + dx

20— 5x%) + 7 — 5% — 5x2
263 — 152 + 2x

Al

x—3x— 2% + 6x% + 4dx
457 + 2x

7 — 5% + 5x — 3(2x + 2%)
7 — 587 — Tx

T2 — 5% + 3(6x3 —Tx)— 3x3
15x%° + 2% — 21x

6x% — 5x° — 4(5x% — 5%°) — 82

7

4 — x— 3(6x + 8x3) — 53
~29x> + 4x* — 19x
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